Question # 1 of 15 ( Start time: 05:33:37 PM )  Total Marks: 1  

Which of the following statement is true about the relation ship between bond ,coupon payment and interest?  

Select correct option:  

 Coupon payments fall, the interest rate falls, and Bond price will rise

 *Coupon payments rises, the interest rate falls, and Bond price will rise

 Coupon payments fall, the interest rate falls, and Bond price will fall

 Coupon payments rise, the interest rate falls, and Bond price will fall

Question # 2 of 15 ( Start time: 05:28:14 PM )  Total Marks: 1  

When the profitability of textile industry goes down due to increase in the cost of raw material (Raw cotton), this is an example of  

Select correct option:  

 Risk premium 

 Idiosyncratic risk 

 Systematic risk 

 Risk sharing  

Question # 3 of 15 ( Start time: 05:29:35 PM )  Total Marks: 1  

Which one of the following statements is correct  

Select correct option:  

 Indirect financing is where resources are transferred from lender to borrower via financial intermediaries. 

 Borrowers sell securities directly to lenders in the financial market is called indirect financing. 

 Indirect financing means no intermediary between lender and borrower. 

 Issuing securities directly in the market for funds rising is an example of indirect financing. 

Question # 4 of 15 ( Start time: 05:30:59 PM )  Total Marks: 1  

Due to adverse economic conditions, a manufacturer of leather garments suffers losses, this is an example of  

Select correct option:  

 Systematic risk 

 Unique risk  

 Unsystematic risk 

 Idiosyncratic risk 

Question # 5 of 15 ( Start time: 05:32:26 PM )  Total Marks: 1  

Which of the bond rating is not denoted by the S& P?  

Select correct option:  

 AA 

 BB  

 CC  

 A3 

     Question # 6 of 15 ( Start time: 05:27:14 PM )  Total Marks: 1  

If the bond price is more t than its face value, what will be the relationship among current yield, coupon rate and YTM?  

Select correct option:  

 Current yield < coupon rate < Yield to Maturity 

 Coupon Rate > Current Yield < Yield to Maturity 

 Yield to maturity < current yield <coupon rate  

 Coupon Rate = Current Yield = Yield to Maturity 

Question # 7 of 15 ( Start time: 05:34:15 PM )  Total Marks: 1  

When the auto manufacturing industry does poorly due to a recession this is an example of:  

Select correct option:  

 Idiosyncratic risk 

* Systematic risk 

 Risk premium 

 Unique risk 

Question # 8 of 15 ( Start time: 05:34:39 PM )  Total Marks: 1  

The longer the time (n) until the payment:  

Select correct option:  

* The lower the present value 

 The higher the present value because time is valuable 

 The lower must be the interest rate 

 Time has no effect on present value 

Question # 9 of 15 ( Start time: 05:35:02 PM )  Total Marks: 1  

An increase in wealth shifts the demand for bonds to the __________.  

Select correct option:  

 Left 

* Right 

 No change 

 All of the given options  

Question # 10 of 15 ( Start time: 05:35:24 PM )  Total Marks: 1  

Beside default risk which one if the following factor affects the return on bond?  

Select correct option:  

* Taxes 

 Monetary policy 

 Junk bonds 

 Debt 

Question # 11 of 15 ( Start time: 05:35:44 PM )  Total Marks: 1  

Mark borrows $8,000 and then repays $8,600 to ABC bank. What is the amount of interest in this payment?  

Select correct option:  

* $600  

 $500 

 $400  

 $100 

Question # 12 of 15 ( Start time: 05:36:04 PM )  Total Marks: 1  

If the two bonds have same risk level but their maturity is different, it would be called----  

Select correct option:  

 Term structure of interest rate  

 Expectation hypothesis  

 Yield curve  

 None of above  

Question # 13 of 15 ( Start time: 05:37:29 PM )  Total Marks: 1  

Financial development measured by  

Select correct option:  

 M1/GDP 

 M2/GDP 

 M3/DGP 

* All of above 

Question # 14 of 15 ( Start time: 05:38:00 PM )  Total Marks: 1  

Economic development measured by  

Select correct option:  

 Real GDP/population  

 Real GDP/ nominal GDP 

 Real GDP/Real GNP 

 *None of above 

Question # 15 of 15 ( Start time: 05:38:24 PM )  Total Marks: 1  

The return on the bond is equal to which of the following?  

Select correct option:  

 Coupon rate + rate of capital gains 

 *Current yield + rate of capital gains 

 Coupon rate - rate of capital gains 

 Current yield - rate of capital gains 

Question # 1 of 15 ( Start time: 05:40:02 PM )  Total Marks: 1  

If the two bonds have same risk level but their maturity is different, it would be called----  

Select correct option:  

 Term structure of interest rate  

 Expectation hypothesis  

 Yield curve  

 None of above  

Question # 2 of 15 ( Start time: 05:41:16 PM )  Total Marks: 1  

Financial instruments can’t be used  

Select correct option:  

 For settlement of obligations  

 As store of value 

 To quote prices  

* For transfer the risk of market fluctuations from one party to another  

Question # 3 of 15 ( Start time: 05:41:47 PM )  Total Marks: 1  

Financial instruments are evolved just as ____________.  

Select correct option:  

* Currency 

 Stock 

 Bond 

 Commodity 

Question # 4 of 15 ( Start time: 05:42:17 PM )  Total Marks: 1  

Which of the following best describes checks?  

Select correct option:  

 *A means of payment 

 Money 

 Not a promise of any kind 

 Not acceptable by the U.S. Government for payment of taxes.  

Question # 5 of 15 ( Start time: 05:43:01 PM )  Total Marks: 1  

Investors will hold higher compensation for the __________ investment.  

Select correct option:  

* More risky  

 Less risky  

 Fixed return 

 Less dividend 

Question # 6 of 15 ( Start time: 05:43:25 PM )  Total Marks: 1  

If bond’s rating is lower, what will be its price?  

Select correct option:  

 Higher 

* Lower 

 Equal to 

 No change 

Question # 7 of 15 ( Start time: 05:43:52 PM )  Total Marks: 1  

___________ is the interest rate at which the present value of the revenue stream equals to the cost of the investment.  

Select correct option:  

 Fixed rate of interest 

 Variable rate of interest 

* Internal rate of return 

 Nominal rate of interest 

Question # 8 of 15 ( Start time: 05:44:16 PM )  Total Marks: 1  

Systematic risks affect everyone and it can be minimized by  

Select correct option:  

 Individual efforts 

 Business  

 Manufacturer 

 *Improvement in overall economic performance of economy  

Question # 9 of 15 ( Start time: 05:44:39 PM )  Total Marks: 1  

__________ is the cost of using the borrowed money.  

Select correct option:  

 Dividend 

* Interest 

 Amount of loan 

 Monthly premium  

Question # 10 of 15 ( Start time: 05:45:07 PM )  Total Marks: 1  

Which of the following would probably NOT earn an A rating from Standard & Poor's:  

Select correct option:  

 30 years bond issued by the U.S. Treasury 

* New vegetarian fast-food chain 

 90 days T-Bills issued by the U.S. Treasury 

 Both 30 years bond and 90 days T-Bills issued by U.S. Treasury 

Question # 11 of 15 ( Start time: 05:45:43 PM )  Total Marks: 1  

Due to adverse economic conditions, a manufacturer of leather garments suffers losses, this is an example of  

Select correct option:  

 Systematic risk 

 Unique risk  

 Unsystematic risk 

 Idiosyncratic risk 

Question # 12 of 15 ( Start time: 05:47:08 PM )  Total Marks: 1  

What will be the result of the difference of real and nominal interest rate?  

Select correct option:  

 The cost of borrowing 

* The effect of inflation 

 The price of bonds 

 The return of bonds 

Question # 13 of 15 ( Start time: 05:47:31 PM )  Total Marks: 1  

Which one of the following is NOT true for the expectation hypothesis?  

Select correct option:  

 Risk free interest rate can be computed 

* There is uncertainty in the future 

 Identifying yield of bond today that will be available next year 

 It focuses on risk free interest rate and the risk premium 

Question # 14 of 15 ( Start time: 05:48:22 PM )  Total Marks: 1  

Normally long term yield curve position is upward sloping due to -------- factor.  

Select correct option:  

 Maturity period difference  

 Return of bond  

 Risk  

 All of above  

Question # 15 of 15 ( Start time: 05:49:19 PM )  Total Marks: 1  

Which of the following are used to monitor and stabilize the economy?  

Select correct option:  

 Stock exchanges 

 Commercial Banks 

* Central Banks 

 Financial institutions 

Question # 1 of 15 ( Start time: 05:50:47 PM )  Total Marks: 1  

Stock exchange is an example of:  

Select correct option:  

 Financial company 

 Financial institution 

* Financial market 

 Bank 

Question # 2 of 15 ( Start time: 05:51:14 PM )  Total Marks: 1  

----- example of channel fund from saver to borrower.  

Select correct option:  

 Bank  

 Mutual fund  

 Finance companies  

* All of above 

Question # 3 of 15 ( Start time: 05:51:38 PM )  Total Marks: 1  

Which of the following statement is true for the given sentence, "that tax affects the bond return"?  

Select correct option:  

* Because only interest income they receive from bond is taxable 

 Because principal amount and interest income they receive from bond is taxable 

 Because bond holders are taxpayers 

 Because all bond is sold with a condition that tax will be deducted from its return 

Question # 4 of 15 ( Start time: 05:52:02 PM )  Total Marks: 1  

Diversification is the principle of:  

Select correct option:  

* Holding more than one risk at a time 

 Reducing the risks we carry to just two 

 Creating risk to increase returns 

 Eliminating investments from our portfolio that have idiosyncratic risk 

Question # 5 of 15 ( Start time: 05:52:23 PM )  Total Marks: 1  

Which of the following best represent the true relationships between interest rates and bond prices?  

Select correct option:  

 Move in the same direction 

* Move in opposite direction 

 Sometimes move in the same direction, some times in opposite direction 

 Have no relationship with each other (i.e. they are independent) 

Question # 6 of 15 ( Start time: 05:52:52 PM )  Total Marks: 1  

Which is the factor that shifts the bond demand cure to the leftward?  

Select correct option:  

 Increase in wealth  

 Increase of inflation  

 Bond less risky compare to other alternative  

 Bonds liquidity is more compare to other alternative  

Question # 7 of 15 ( Start time: 05:53:37 PM )  Total Marks: 1  

Which of the following comes under the category of financial instruments?  

Select correct option:  

 Gold reserves  

 Utility bill 

 Share of NBP  

 Real estate purchase contract 

Question # 8 of 15 ( Start time: 05:54:51 PM )  Total Marks: 1  

Which of the variable measured in point of time?  

Select correct option:  

 Flow variable  

 Stock variable  

* Both flow variable and stock variable  

 None of above  

Question # 9 of 15 ( Start time: 05:55:15 PM )  Total Marks: 1  

Which of the following is the main limitation of hedging strategy?  

Select correct option:  

 Return always moves in same direction 

 Investments don’t always move predictably in opposite directions 

 Investments are volatile  

 Diversification is not possible  

Question # 10 of 15 ( Start time: 05:56:07 PM )  Total Marks: 1  

The bond rating of a security refers to which of the followings?  

Select correct option:  

 The size of the coupon payment relative to the face value 

 The return a holder is likely to receive 

* The likelihood the lender/borrower will be repaid by the borrower/issuer 

 The years until the bond matures 

Question # 11 of 15 ( Start time: 05:56:29 PM )  Total Marks: 1  

Bonds that are issued by Government are called _________.  

Select correct option:  

 Government bond 

* Treasury bond 

 Corporate bond 

 Callable Bonds 

Question # 12 of 15 ( Start time: 05:56:49 PM )  Total Marks: 1  

If a credit rating agency assign low rating any bond what will be the effect on its price and yield?  

Select correct option:  

 Its price will be low and yield also low  

 Its price will be high and yield also high  

 Its price will be low and its yield will be high  

 Its price will be low and no effect on yield 

Question # 13 of 15 ( Start time: 05:57:25 PM )  Total Marks: 1  

An increase in the expected inflation shifts the bond demand to the _________.  

Select correct option:  

* Right 

 Left 

 No change 

 All of the given options 

Question # 14 of 15 ( Start time: 05:57:43 PM )  Total Marks: 1  

According to the rule of 72 for reasonable rates of return, the time it takes to __________ the money will be t =72/i%  

Select correct option:  

* Doubles 

 Triples 

 halves 

 3/4  

If the annual interest rate is 6%, the price of a 1-year Treasury bill with $100 face value would be:  

Select correct option:  

 $94.00 

 *$94.33 

 $95.25 

 $96.10 

Question # 1 of 15 ( Start time: 06:08:14 PM )  Total Marks: 1  

Diversification is the principle of:  

Select correct option:  

* Holding more than one risk at a time 

 Reducing the risks we carry to just two 

 Creating risk to increase returns 

 Eliminating investments from our portfolio that have idiosyncratic risk 

Question # 2 of 15 ( Start time: 06:08:35 PM )  Total Marks: 1  

__________ is the cost of using the borrowed money.  

Select correct option:  

 Dividend 

* Interest 

 Amount of loan 

 Monthly premium  

Question # 3 of 15 ( Start time: 06:09:56 PM )  Total Marks: 1  

___________ is the value today of a payment that is promised to be made in the future.  

Select correct option:  

 Future value 

* Present value 

 Agreed value 

 None of the given options 

Question # 4 of 15 ( Start time: 06:10:36 PM )  Total Marks: 1  

Expectation hypothesis focuses on which one of the following?  

Select correct option:  

 Risk premium 

* Risk free interest rate 

 Yield to maturity 

 None of the given options 

Question # 5 of 15 ( Start time: 06:11:11 PM )  Total Marks: 1  

Present value can be calculated with the help of  

Select correct option:  

Question # 6 of 15 ( Start time: 06:12:38 PM )  Total Marks: 1  

The return on the bond is equal to which of the following?  

Select correct option:  

 Coupon rate + rate of capital gains 

* Current yield + rate of capital gains 

 Coupon rate - rate of capital gains 

 Current yield - rate of capital gains 

Question # 7 of 15 ( Start time: 06:13:08 PM )  Total Marks: 1  

The risk premium for an investment:  

Select correct option:  

* Increases with risk 

 Is a fixed amount added to the risk free return 

 Is negative for U.S. Treasury Securities 

 Is negative for risk averse investors 

Question # 8 of 15 ( Start time: 06:13:29 PM )  Total Marks: 1  

Financial instruments can’t be used  

Select correct option:  

 For settlement of obligations  

 As store of value 

 To quote prices  

* For transfer the risk of market fluctuations from one party to another  

Question # 9 of 15 ( Start time: 06:13:51 PM )  Total Marks: 1  

When the auto manufacturing industry does poorly due to a recession this is an example of:  

Select correct option:  

 Idiosyncratic risk 

* Systematic risk 

 Risk premium 

 Unique risk 

Question # 10 of 15 ( Start time: 06:14:25 PM )  Total Marks: 1  

The lowest rating for an investment grade bond assigned by Moody's is:  

Select correct option:  

 BBB 

 ABB 

* Baa 

 Aaa 

Question # 11 of 15 ( Start time: 06:14:57 PM )  Total Marks: 1  

The value of probability lies between___________  

Select correct option:  

 -1 and 1 

* 0 and 1 

 -100 and 100 

 0 and 100 

Question # 12 of 15 ( Start time: 06:16:02 PM )  Total Marks: 1  

----- example of channel fund from saver to borrower.  

Select correct option:  

 Bank  

 Mutual fund  

 Finance companies  

 All of above 

Question # 13 of 15 ( Start time: 06:16:46 PM )  Total Marks: 1  

A risk-averse investor will:  

Select correct option:  

 Always prefer an investment with a lower expected return 

* Always prefer an investment with a certain return to one with the same expected return but any amount of uncertainty 

 Always require a certain return 

 Always focus exclusively on the expected return 

Question # 14 of 15 ( Start time: 06:17:21 PM )  Total Marks: 1  

Which of the following NOT true for financial institutions?  

Select correct option:  

 It reduces the transaction cost 

 It reduce the information cost 

 It reduces the asymmetric information 

 *It doesn’t make long term loans 

Question # 15 of 15 ( Start time: 06:17:44 PM )  Total Marks: 1  

You receive a check for $100 two years from today. The discounted present value of this $100 is:  

Select correct option:  

 $100/(1+i)  

 $100*(1+i)2  

 $100*(1+i)  

* $100/(1+i)2  

